I_TO BE COMPLETED BY CLINICAL STAFF _I
Screening procedure

For the following question - 1 standard drink = 1 unit of alcohol, an indication of standard
drinks is provided in the diagram below.

One Standard Drink is

Half pint of 1 single 1 small 1 single
regular beer, ‘I small glass measure glass of measure
lager ot cider of wine of spirits sherry of aperitifs

The following quantities of alcohol contain more than 1 standard drink

= (=}
2 4
440ml 440ml

; ) ) Alcopop or Can of Premium  Can of Super
gg‘;;j{:ﬁf&?&m Pint of Premium  cap/bottie of ~ Lager Strength Glass of Wine  ottle of
9 Beer/Lager/Cider Regylar Lager or Strong Beer  Lager (175ml) Wine

Please place a cross in the relevant box.

MEN: How often do you have EIGHT or more standard drinks on one occasion?
WOMEN: How often do you have SIX or more standard drinks on one occasion?

Never Less than Monthly Weekly Daily or
monthly almost daily

Scoring the M-SASQ

If the patient's response is 'Monthly', 'Weekly' or 'Daily or almost daily' the score is M-SASQ
positive.

If their response is 'Never' or 'Less than monthly' the score is M-SASQ negative.

Please indicate the result of the screening procedure by placing a cross in the appropriate box
below.

Positive Negative

If the result is negative thank the patient, terminate the interview and store the survey securely,
to be collected by research staff.

If the result is positive explain the study to the patient, provide an information sheet and
request written consent.

Is the patient willing to provide written informed consent? Yes No

If yes continue with the consent details overleaf.

If no terminate the interview and store the survey securely, to be collected by research staff.
Remember to provide the patient with a Patient Information Leaflet.

. PHC M SASQ NONT 12MAR08
Participant ID: Q

I_ (office use only) 4 4745194307 _I




